	Table 3
	
	

	Cox proportional hazard model of shelter departure with selected interactions

	Variable
	Model 1
	[bookmark: _GoBack]Model 2

	Older
	0.616***
	0.583***

	
	[0.526,0.721]
	[0.493,0.689]

	French language
	1.123
	1.131

	
	[0.987,1.277]
	[0.997,1.283]

	Immigrant
	0.957
	0.956

	
	[0.796,1.149]
	[0.808,1.131]

	Vulnerability type
	
	

	Income
	0.828*
	0.832*

	
	[0.701,0.977]
	[0.715,0.969]

	Education
	1.038
	1.033

	
	[0.840,1.284]
	[0.859,1.244]

	Legal
	0.824
	0.914

	
	[0.632,1.073]
	[0.738,1.132]

	Life skills
	1.035
	1.035

	
	[0.913,1.174]
	[0.898,1.193]

	Mental health
	1.038
	1.039

	
	[0.847,1.273]
	[0.848,1.274]

	Substance use
	1.436***
	1.430***

	
	[1.220,1.691]
	[1.183,1.728]

	Family
	1.159*
	1.153*

	
	[1.013,1.327]
	[1.000,1.328]

	Mobility
	1.032
	0.954

	
	[0.891,1.195]
	[0.808,1.126]

	Community
	0.863*
	0.863

	
	[0.749,0.994]
	[0.731,1.018]

	Safety
	1.099
	1.105

	
	[0.887,1.360]
	[0.921,1.326]

	Older * legal
	1.589*
	

	
	[1.070,2.359]
	

	Older * mobility
	
	1.422*

	
	
	[1.066,1.897]

	N
	1021
	1021

	Note. Total number of events = 1,021 and censored = 56, resulting in 5% censored. Standard errors estimated from 100 bootstrap replications. Exponentiated coefficients; 95% confidence intervals in brackets. * p < 0.05, ** p < 0.01, *** p < 0.001




